Ajuste de reacciones — Ejercicios resueltos

Ajusta las siguientes reacciones quimicas:

a) H» + O, = H,O

b) N> + H» = NHj3

¢) H,O + Na=NaOH + H»

d) KCIO; = KCI + O

¢) BaO> + HCl = BaCl; + H2O»

f) HoSO4 + NaCl = Na,SO4 + HCI
g) FeSo =Fe3Ss + So

h) H,SO4 + C =H>0 + SO, + CO,

1) SOz + O2 =S03

j) HC1+ MnO; = MnCl, + H,0 + Cl»
k) K2CO; +C=CO +K

1) Ag2SO4 + NaCl = NaxSO4 + AgCl
m) NaNO; + KCl = NaCl + KNO3
n) Fe;O3 + CO = CO; + Fe

) NaxCO3z + HoO + CO2 = NaHCO3
0) Cr03 + Al = ALO3 + Cr

p) Ag + HNO3 = NO + H,0 + AgNO3
q) CuFeS; + O2 =SO; + CuO + FeO
r) C2He + O2 = CO; + H2O

s) FeS, + O2 = Fe;03 + SO»

t) Zn + HCI = ZnCL + H»

u) Al + HC1=AICl; + Ha

v) CaC; + H>O = CoH» + Ca(OH)2
w) HCl1 + Al(OH); = AICl; + H2O

x) Fe + Oz = Fe203

y) HBr + NaOH = NaBr + H>O

z) CsH1206 + O2 = CO2 + H,0



Soluciones

a) 2Hz + O2 =2H,0

b) N2 + 3H> = 2NH3

¢) 2H>O + 2Na = 2NaOH + H»

d) 2KCl10; = 2KCI + 30

e) BaO, + 2HCIl = BaCl,; + H20»

f) HoSO4 + 2NaCl = NaxSO4 + 2HC1

g) 3FeS> =FesS4+ S

h) 2H,SO4 + C =2H>0 + 2SO0, + CO,
1) 250 + O2 = 250;

j) 4HCl + MnO; = MnCl, + 2H>0 + Ch
k) KoCO3 +2C =3CO + 2K

1) Ag>SO4 + 2NaCl =Na,SO4 +2AgCl
m) NaNOs + KCl = NaCl + KNO3

n) FexO3 +3CO =3CO; + 2Fe

1) NaxCO3 + H,O + CO2 = 2NaHCO;3
0) Cr03 + 2Al = ALOs; + 2Cr

p) 3Ag +4HNO3; =NO + 2H>O + 3AgNO3
q) CuFeS; +302=2S02 + CuO + FeO
1) 2C2He + 702 =4CO; + 6H20
s)4FeS; + 1102 =2Fe;03 + 8S0O:

t) Zn + 2HCl = ZnCl, + H»

u) 2A1+ 6HC1 =2AICl; + 3H>

v) CaC, + 2H>0O = C;H; + Ca(OH)»

w) 3HCI + Al(OH); = AICl; + 3H20

x) 4Fe + 302 = 2Fe20;

y) HBr + NaOH = NaBr + H,O

7) C¢H1206 + 602 = 6CO; + 6H2O



